3 (Sem-2) GGY

2019

GEOGRAPHY
( General )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
eors fin erpiyzd T fau
fa) What is aphelion?
R G I QT ?
(b} What is thermograph?
a9
(c) What is isothermal line?
Ao (@ 2

(d From which Latin word the term ‘soil’
has been derived?

T T “soil’ *RAH B @S R o R ?
{e) What is ‘humus’ in soil?

o3 “Reww’ et B 3o 2
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2.

3.
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(2)

(# In which country Savanna grassland is
found?

R (P o 92 IR I[w 2

(g) Write a name of animal found in rain
forest.

IR© iR Ry wFT AW foran o

Answer the following questions very briefly :
2x4=8
TS fA PR S Cwee Yes fa

(a) What is homosphere?
TRETReT 32

(b) What is iﬁsolation?
oo &2

(c) What is biodiversity?
teRtafoarel 2

(d) Write the functions of soil.
TG FFORE o |

Write short notes on any three of the
following : Sx3=15
ware figr R e oMb o o for

(a) Tropopause and stratopause
oo o 671

( Continued )

(3)

(p) Radiation and convection

Ri¥T =% «if 5o

{c) Permanent winds and seasonal winds

e Io1z IF ANRE TOR

(d) Grassland ecosystem and artificial
ecosystem

T R oy o 3R R =

{e) Laterite soil and tundra soil

GRS W o gl T

. What are the principal gases comprising

atmosphere? Write the modern views
regarding the structure of the atmosphere.

4+6=10
e & R gum o T\ e txR? WIS
o o YT qrRen o )
Or/ |91

Write heat budget of the earth with diagram. 10
R e1eE I fo IT=es v
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(4)

5. Write the components and functioning of an
ecosystem. Write briefly about the different
types of ecosystem. 4+6=10
RS o7 TR I o o 1 SRR/ g
IR Rea wis o :

Or/ {1
Discuss about the distribution of plants and
animals in different ecosystems. 5+5=10

fftn AR <o 2R wF AW Req 3w
ST 47 )

6. Write about the process of soil formation and
soil types. 4+6=10
e e ot o (IR AReE T
o

Or/ 1

What are the different factors that control the
climate of a place? Discuss briefly. 10

9¥F 3 woRy FeEel IR R R s
A <41 |

L& & {
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